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41- He was only … away from the reactor when the explosion happened, so he was able to describe

the shocking experience.

1) a few hundred meters 2) a few hundreds of meter 

3) few hundred meters 4) few hundreds meter

42- I … early in the morning because I like watching the sunrise.

1) take usually a walk 2) usually take a walk

3) take a walk usually 4) take a usually walk

43- After months of practicing and years of hard work, it was not … she was the front-runner in the 

competition.

1) familiar 2) surprising

3) available 4) additional

44- Fortunately, the work was done quickly with the help of a computer program designed … for

that purpose.

1) frequently 2) honestly

3) fluently 4) specifically

45- We didn’t … there would be a problem about finding a comfortable hotel in the city.

1) belong 2) imagine 

3) exchange 4) receive

46- The new student has an unfriendly …, which makes him very unpopular among other students.

1) manner 2) skill

3) pattern 4) action 

PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

Understanding
People

(Get Ready,…, 
Writing)
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PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct 
choice on your answer sheet.

People often ask which language is the most difficult to learn, and it is not easy to answer because 
there are many factors to take into consideration. Firstly, in a first language the differences are 
unimportant, as people learn their mother tongue naturally, so the question of how hard a 
language is to learn is only for learning a second language. A native speaker of Spanish, for 
example, will find Portuguese much easier to learn than a native speaker of Chinese because 
Portuguese is very similar to Spanish, while Chinese is very different, so first language can affect 
learning a second language. The greater the differences between the second language and our first
are, the harder it will be for most people to learn. Many people answer that Chinese is the hardest 
language to learn, possibly because of the Chinese writing system and its pronunciation. However, 
for Japanese speakers, who already use Chinese characters in their own language, learning how 
to write will be less difficult than for speakers of languages using the Roman alphabet. 

Some people seem to learn languages readily, but others find it very difficult. Teachers and the 
conditions in which the language is learned also play an important role, as well as each learner’s
motivation for learning. If people learn a language because they need to use it professionally, they 
often learn it faster than people studying a language that has no direct use in their daily life.  No 
Language is easy to learn well, although languages which are related to our first language are 
easier. In the end, it is impossible to say that there is one language that is the most difficult 
language in the world. 

47- According to the passage, learning Portuguese is easier for Spanish speakers because … .
1) it has an easy writing system
2) it is easier than Chinese 
3) there are many similarities between the two languages
4) there are many differences between the two languages 

48- The writer believes that …  . 
1) learning a second language is not related to our first language at all
2) learning a second language can have a great influence on our first language 
3) the differences between languages are not important in the learning process 
4) great differences between two languages can make the learning process more difficult

49- The underlined word “readily” in paragraph 2 is closest in meaning to … .
1) absolutely 2) probably 3) easily 4) quietly 

50- Which of the following statements is NOT TRUE, according to the passage? 
1) Only teachers have a key role in language learning. 
2) The conditions in which a language is learned are important, too. 
3) Languages which are related to our mother tongue are easy to learn for us.
4) It is not possible to say that which language is the hardest in the world. 
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